SHET 4

uad ° T

wg fasedta u9=-1 (MCQ 1)

41 A=i+j M B=i-j% o= H0 -
(@) 45° (b) 90° (c) —45° (d) 180°
4.2 ffafed § $H-91 FeH 99 22

(a) ATt Ui =% et & s foreht ufsran o wefar &t =1

(b) e TR o8 Bt ® FSe1 A eIy SROMcHe <8l 81 Hehdll

() eifEer Tfer = eidt @ Forgent oM smshrer § U fog @ @ fog w @
Enf

(d) sifcwr afr =1 9= e1ef o fafu= fo=omei o feord deenl o faw wum
Bl 2

4.3 fo4.19 XY 9§ < 9w u W& v & fa=mg g9t 7 € 4t
u=ai+b:i3ﬁ'{

V=pi+qj

Y

18-04-2018



Wy T waStenT— wirfaent

20

4.4

4.5

4.6

4.7

4.8

@ Frefafed § -1 %9 T8 872

(a) a T p ¥ & Seifeh b 3R q FoMHS 2
(b) a, p R b eHHAF € Selfeh q FUMHF T
(©) a, q 3R b & cHF B ek p HMcHF 2
(d) a, b, p 3 q gt oFEHS T

Rl |fel r o X-37&1 o ST W<k 1 A Afeehad BN AfS

(@) r R Y-3181 o Sey
b) r ©FTCHR X318l o SR 2
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